


REASONING

REASONING

QUESTION 1                                                                                                                            Right mark: 1   Negative mark: 0.25

शब्द 'EXPRESSION' में अक्षरों के ऐसे ककतने युग्म हैं जिनमें से 
प्रत्येक के बीच शब्द में उतने ही अक्षर हैं जितने अंगे्रिी वर्णमाला 
में हैं?
How many such pairs of letters are there in the word, 
'EXPRESSION' each of which has as many letters between them in 
the word as they have in the English alphabetical series?
A) Three
B) None
C) Two
D) One
E) None of these
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शब्द 'EXPRESSION' में अक्षरों के ऐसे ककतने युग्म हैं जिनमें से 
प्रत्येक के बीच शब्द में उतने ही अक्षर हैं जितने अंगे्रिी वर्णमाला 
में हैं?
How many such pairs of letters are there in the word, 
'EXPRESSION' each of which has as many letters between them in 
the word as they have in the English alphabetical series?
A) Three
B) None
C) Two
D) One
E) None of these
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QUESTION 2                                                                                                                            Right mark: 1   Negative mark: 0.25

शब्द TOURNAMENT में अक्षरों के ऐसे ककतने िोडे हैं जिनमें से 
प्रत्येक के बीच उतने ही अक्षर हैं जितने अंगे्रिी वर्णमाला में हैं?
How many pairs of letters are these in the word TOURNAMENT 
each of which has as many letters between them in the word as in 
the English alphabetical series?
A) None
B) One
C) Two
D) Three
E) Four
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शब्द TOURNAMENT में अक्षरों के ऐसे ककतने िोडे हैं जिनमें से 
प्रत्येक के बीच उतने ही अक्षर हैं जितने अंगे्रिी वर्णमाला में हैं?
How many pairs of letters are these in the word TOURNAMENT 
each of which has as many letters between them in the word as in 
the English alphabetical series?
A) None
B) One
C) Two
D) Three
E) Four
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QUESTION 3                                                                                                                            Right mark: 1   Negative mark: 0.25

प्रत्येक शब्द में प्रत्येक अक्षर का केवल एक बार प्रयोग करके 
MTSO अक्षरों से अंगे्रिी के ककतने अर्णपूर्ण शब्द बनाए िा सकते हैं?
How many meaningful English word can be made with the letters 
MTSO using each letter only once in each word ?
A) None
B) One
C) Two
D) Three
E) Four
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प्रत्येक शब्द में प्रत्येक अक्षर का केवल एक बार प्रयोग करके 
MTSO अक्षरों से अंगे्रिी के ककतने अर्णपूर्ण शब्द बनाए िा सकते हैं?
How many meaningful English word can be made with the letters 
MTSO using each letter only once in each word ?
A) Three
B) Two
C) One
D) None
E) None of these
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QUESTION 4                                                                                                                            Right mark: 1   Negative mark: 0.25

यकद शब्द SIGNATURE के सभी अक्षरों को अंगे्रिी वर्ाणनुक्रम के 
अनुसार व्यवजथर्त ककया िाता है, तो पुनव्यणवथर्ा के बाद ककतने 
अक्षरों की जथर्तत अपररवततणत रहेगी?
If all the letters in the word SIGNATURE are arranged according to 
English alphabetical order, the positions of how many letters will 
remain unchanged after rearrangement?
A) One
B) Two
C) Three
D) Four
E) None
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यकद शब्द SIGNATURE के सभी अक्षरों को अंगे्रिी वर्ाणनुक्रम के 
अनुसार व्यवजथर्त ककया िाता है, तो पुनव्यणवथर्ा के बाद ककतने 
अक्षरों की जथर्तत अपररवततणत रहेगी?
If all the letters in the word SIGNATURE are arranged according to 
English alphabetical order, the positions of how many letters will 
remain unchanged after rearrangement?
A) One
B) Two
C) Three
D) Four
E) None
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QUESTION 5                                                                                                                            Right mark: 1   Negative mark: 0.25

यकद "OUTSTANDING" शब्द के प्रत्येक व्यंिन को अंग्रेिी वर्णमाला श्रखंला के 
पपछले अक्षर से बदल कदया िाता है और प्रत्येक थवर को अंगे्रिी वर्णमाला श्रखंला 
के अगले अक्षर से बदल कदया िाता है, और किर इस तरह से बने अक्षरों को 
वर्ाणनुक्रम में बाईं ओर से व्यवजथर्त ककया िाता है। कौन सा बायें से चौर्ा होगा?
If each consonant in the word “OUTSTANDING” is changed to the previous letter 
in the English alphabetical series and each vowel is changed to the next letter in 
the English alphabetical series, and then the alphabets so formed are arranged 
in an alphabetical order from left, which will be the fourth from the left? 
A) P
B) J
C) R
D) S
E) None of these
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यकद "OUTSTANDING" शब्द के प्रत्येक व्यंिन को अंग्रेिी वर्णमाला श्रखंला के 
पपछले अक्षर से बदल कदया िाता है और प्रत्येक थवर को अंगे्रिी वर्णमाला श्रखंला 
के अगले अक्षर से बदल कदया िाता है, और किर इस तरह से बने अक्षरों को 
वर्ाणनुक्रम में बाईं ओर से व्यवजथर्त ककया िाता है। कौन सा बायें से चौर्ा होगा?
If each consonant in the word “OUTSTANDING” is changed to the previous letter 
in the English alphabetical series and each vowel is changed to the next letter in 
the English alphabetical series, and then the alphabets so formed are arranged 
in an alphabetical order from left, which will be the fourth from the left? 
A) P
B) J
C) R
D) S
E) None of these
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QUESTION 6                                                                                                                            Right mark: 1   Negative mark: 0.25

5 4 2 6 g 8 7 © 5 4 * 3 9 2 9 $ 1 6 5 2 7 # 9 3 8 6 @ 2 3 1 4 5 p 9 8 7 2 b 4 3

यकद पूर्ण वगण वाले सभी अंकों को उपरोक्त व्यवथर्ा से हटा कदया िाए, तो 
तनम्नतलजखत में से कौन सा उपरोक्त व्यवथर्ा के बाएं छोर से 13वां 
(अंक/प्रतीक) होगा?
If all the digits that are perfect square are dropped from the above 
Arrangement, which of the following will be 13th (digit/symbol) from 
the left end of the above arrangement?
A) $ 
B) 2
C) 1 
D) 5
E) None of these IBPS Clerk 2018
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यकद पूर्ण वगण वाले सभी अंकों को उपरोक्त व्यवथर्ा से हटा कदया िाए, तो 
तनम्नतलजखत में से कौन सा उपरोक्त व्यवथर्ा के बाएं छोर से 13वां 
(अंक/प्रतीक) होगा?
If all the digits that are perfect square are dropped from the above 
Arrangement, which of the following will be 13th (digit/symbol) from 
the left end of the above arrangement?
A) $ 
B) 2
C) 1 
D) 5
E) None of these IBPS Clerk 2018
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QUESTION 7                                                                                                                            Right mark: 1   Negative mark: 0.25

5 4 2 6 g 8 7 © 5 4 * 3 9 2 9 $ 1 6 5 2 7 # 9 3 8 6 @ 2 3 1 4 5 p 9 8 7 2 b 4 3

उपरोक्त व्यवथर्ा में ऐसे ककतने प्रतीक हैं, जिनमें से प्रत्येक के ठीक पहले 
और ठीक बाद में एक सम संख्या है?
How many symbols are there in the above arrangement, each of which 
is immediately preceded as well as immediately followed by an even 
number?
A) None
B) One
C) Two
D) Three
E) More than three
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उपरोक्त व्यवथर्ा में ऐसे ककतने प्रतीक हैं, जिनमें से प्रत्येक के ठीक पहले 
और ठीक बाद में एक सम संख्या है?
How many symbols are there in the above arrangement, each of which 
is immediately preceded as well as immediately followed by an even 
number?
A) None
B) One
C) Two
D) Three
E) More than three
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QUESTION 8                                                                                                                            Right mark: 1   Negative mark: 0.25

5 4 2 6 g 8 7 © 5 4 * 3 9 2 9 $ 1 6 5 2 7 # 9 3 8 6 @ 2 3 1 4 5 p 9 8 7 2 b 4 3

यकद उपरोक्त व्यवथर्ा से सभी प्रतीकों और अक्षरों को हटा कदया िाता है, 
तो तनम्नतलजखत में से कौन सी संख्या उपरोक्त व्यवथर्ा के दायें छोर से 
15वीं है?
If all the symbols and letters are dropped from above Arrangement 
which of the following number is 15th from right end of the above 
arrangement?
A) 2
B) 7
C) 9
D) 3
E) 8 IBPS Clerk 2018
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यकद उपरोक्त व्यवथर्ा से सभी प्रतीकों और अक्षरों को हटा कदया िाता है, 
तो तनम्नतलजखत में से कौन सी संख्या उपरोक्त व्यवथर्ा के दायें छोर से 
15वीं है?
If all the symbols and letters are dropped from above Arrangement 
which of the following number is 15th from right end of the above 
arrangement?
A) 2
B) 7
C) 9
D) 3
E) 8 IBPS Clerk 2018
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QUESTION 9                                                                                                                            Right mark: 1   Negative mark: 0.25

529 727 957 795 587

यकद दसूरी सबसे छोटी संख्या के इकाई अंक को दसूरी सबसे बडी संख्या 
के इकाई अंक में िोड कदया िाए तो पररर्ाम क्या होगा?
What will be the resultant if unit digit of second lowest number is 
added to unit digit of second highest number?
A) 13
B) 14
C) 11
D) 15
E) 12
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यकद दसूरी सबसे छोटी संख्या के इकाई अंक को दसूरी सबसे बडी संख्या 
के इकाई अंक में िोड कदया िाए तो पररर्ाम क्या होगा?
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QUESTION 10                                                                                                                           Right mark: 1   Negative mark: 0.25

यकद दी गई संख्याओं को घटते क्रम में दाएँ से बाएँ व्यवजथर्त ककया 
िाए, तो तनम्नतलजखत में से कौन दाएँ से चौर्ा होगा?
If the given numbers are arranged in decreasing order from right to left, 
which of the following will be the 4th from the right?
A) 957 
B) 529
C) 727
D) 587
E) 795

529 727 957 795 587
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which of the following will be the 4th from the right?
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C) 727
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यकद प्रत्येक संख्या के प्रत्येक पवषम अंक में एक िोडा िाता है और 
प्रत्येक संख्या के प्रत्येक सम अंक में से एक घटाया िाता है, तो कौन 
सी संख्या दसूरी सबसे बडी संख्या होगी?
If one is added to each odd digit of a number and one is subtracted 
from each even digit of every number then which number will be 
second highest? 
A) 957 
B) 529
C) 727
D) 587
E) 795

529 727 957 795 587

IBPS PO 2017
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यकद प्रत्येक संख्या के प्रत्येक पवषम अंक में एक िोडा िाता है और 
प्रत्येक संख्या के प्रत्येक सम अंक में से एक घटाया िाता है, तो कौन 
सी संख्या दसूरी सबसे बडी संख्या होगी?
If one is added to each odd digit of a number and one is subtracted 
from each even digit of every number then which number will be 
second highest? 
A) 957 
B) 529
C) 727
D) 587
E) 795

529 727 957 795 587
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QUESTION 12                                                                                                                           Right mark: 1   Negative mark: 0.25

यकद प्रत्येक व्यंिन को कदए गए शब्दों के पपछले वर्ण से बदल कदया िाए 
और थवर वही रहे, तो ककतने शब्दों में एक से अतिक थवर हैं?
If each consonant is changed to the previous letter of the given words 
and vowel remains the same, then how many words have more than 
one vowel?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON

SBI PO 2019
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यकद प्रत्येक व्यंिन को कदए गए शब्दों के पपछले वर्ण से बदल कदया िाए 
और थवर वही रहे, तो ककतने शब्दों में एक से अतिक थवर हैं?
If each consonant is changed to the previous letter of the given words 
and vowel remains the same, then how many words have more than 
one vowel?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON
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QUESTION 13                                                                                                                           Right mark: 1   Negative mark: 0.25

बाएं से दसूरे शब्द के तीसरे अक्षर और दाएं छोर से दसूरे शब्द के दसूरे 
अक्षर के बीच वर्णमाला श्रखंला में ककतने अक्षर हैं?
How many letters are in the alphabet series between third letter of the 
second word from left and second letter of the second from the right 
end ?
A) Eight
B) Nine
C) Ten
D) Eleven
E) Twelve

YXZ BAC  JFG  ROP GON
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बाएं से दसूरे शब्द के तीसरे अक्षर और दाएं छोर से दसूरे शब्द के दसूरे 
अक्षर के बीच वर्णमाला श्रखंला में ककतने अक्षर हैं?
How many letters are in the alphabet series between third letter of the 
second word from left and second letter of the second from the right 
end ?
A) Eight
B) Nine
C) Ten
D) Eleven
E) Twelve

YXZ BAC  JFG  ROP GON
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QUESTION 14                                                                                                                           Right mark: 1   Negative mark: 0.25

यकद प्रत्येक शब्द का पहला और दसूरा अक्षर आपस में बदल कदया िाए 
तो ककतने शब्द थवर से शुरू होते हैं?
If first and second letter of the each word is interchange then how 
many words starts with a vowel?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON
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यकद प्रत्येक शब्द का पहला और दसूरा अक्षर आपस में बदल कदया िाए 
तो ककतने शब्द थवर से शुरू होते हैं?
If first and second letter of the each word is interchange then how 
many words starts with a vowel?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON
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QUESTION 15                                                                                                                           Right mark: 1   Negative mark: 0.25

यकद प्रत्येक शब्द के अंत में 'E' िोडा िाए, तो ककतने अर्णपूर्ण शब्द 
बनेंगे?
If 'E' is added in the last of the each word then how many meaningful 
word will form ?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON
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यकद प्रत्येक शब्द के अंत में 'E' िोडा िाए, तो ककतने अर्णपूर्ण शब्द 
बनेंगे?
If 'E' is added in the last of the each word then how many meaningful 
word will form ?
A) One
B) Two
C) Three
D) Four
E) Five

YXZ BAC  JFG  ROP GON
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